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Function 1n python

Det function_name():
process

[return value]




Function 1n python

def my function(): def max2(a,b):

print ("hello from a function") 1f a>b:
. recurn a

else:

my function() return b
hello from a function

max(2,7)
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brute Force Algorithm

current_state current_state




brute Force Algorithm
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brute Force Algorithm .

current state = first state()
while current state!=None:
i validatefcurrent state).
printfcurrent state)
current state = next state(curvent state)
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def first_state{]:
current state=[1,1]
return r:urrent_state
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def next state(current state):
1f current state[l]<6:
current state[l]=current state[l]+l
elif current state[0]<6:
current state[0]=current state[0]+1
current state[l]=1
else:
current state=None
return current state
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def validate (current state):
1T current state[0]+current state[l]==10:
return True
else.:
return False
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current state=first state()
while current state!=None:
1T validate (current state):
print (current state)
current state=next state(current state)
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